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Home Work Question- 3 October

Q. Which metal 1s used in the Galvanization process?
TSI STshaT H Toher €T 3T ST fehaT STt &2

a) Tin/fe

) Le@
—¢) Zinc/SET

d) Coppeir_@
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/- STEAT ohT U oo 1hTuT TTshdT § TohdT STTdT 2
?lcri-uawialvl ST Rl Uehd o 10T &I AT Al W
T GUETCHe ST ShiTeHT TR Sl STshAT T

®Zinc 1s used 1n galvanisation process.
Galvanization 1s the process of applying a

protective zinc coating to steel or iron, to
prevent rusting.



Eﬁavi Saxena 17 hours ago

o Home work answer is option C (zinc)
Galvanisation process mein rusting se bachne ke liye zinc ki coating ki jati hai.....Very nice session sir Thank you so much
dear Sir Jia oa o's o's o'
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Hw ans Zinc
Thank you sir amazing session
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-4 Option C Zinc is the right answer.
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Previous Year Questions
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Q.] India shares land borders with how many countries?

WA Tefc 23T o G S EHT |TET hLdT 82
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Paliklk qerel 30 o WY i HHT |

( ‘//j FAT 8 | UTIREdH, dLﬂ|§3|, <, 9T,
~— N\ ~.. — - - s 74 7
VIV _FIT, ‘l-lc\f,/lji%ﬁ'{ii‘l‘-b‘lw-l{-dl'-l |

M5B

~a i
@ ® India shares land borders with seven
neighboring countries viz. Pakistan,

Bangladesh, China, Nepal, Myanmar,

Bhutan, and Afghanistan.
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Q 2. Which among the following 1s the origin of the Damodar river?

V. Tyeffad T 9 9 erHiet 76t o SeH T &9

Greater Himalaya/ﬁEI W%%FPJ

Kumaon Himalaya/&H K2 i%lil R
+ —_—

Sahyadri Hills/&&ITst sed X

Chota Nagpur/@\ldl YT

——




TARGET GS- 25/25

.
SIS Fal, ST ARES ST aied simet ﬁ%?ﬁ 8, AL

(\

o
\// STet, ®Iel AN UeR, HARES W <qoalaH] AHeh € ¥
fFeperdlt @ ST 21 afgm st § el 3t 1 W 2t @
o o N N AN O
T foATSTeR ST o ST 38 SIS ol QI_IOI')EF%EITEITQJT,
gTCTifoh 3Tal g SITEIT o [-THIYT A SITE ohl IHI & doh AP
L T 81 I8 9T oh! Gold US¥d el H ¥ U 2 @}

® Damodar River, which flows in Jharkhand and \7\@
Bengal, originates from a place called ChulhaPani in
Lohardaga district, Chota Nagpur Plateau, Jharkhand
and 1t ends 1n Hooghly River in West Bengal. It was
once called Sorrow of Bengal due to devastating floods
though now construction of several dams have
controlled the floods to a great extent. It 1s one of the
most polluted rivers of India.
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Q.3 Which of the following 1s the northern most point of India?
</ feafafad § & S TRd 1 g 3T feig &2

a) Cape Camorin/&q HATN

e
{/by Indira Col/g{et shiet_

c) Guhar Moti/‘olélUﬂ_cﬁ

d) Pigmalion Point/foferem Uige
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T Gy I |®|<i $|¢{I IS o T U ST

/Gﬂ?ﬂ%l ?1'8'(5 764 1 ?ﬁwﬁmﬁaﬂél

® The northern most point of India 1s known

as Indira Col. It 1s located at an altitude of
5,764 meters.
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Q.4 Salsette Island 1s situated in which state of India?
. OTHe €9 YT o Tl TsT | R 8 2
S.S.C. AT CHSL (T-I) 19 1T, 2020 (11- 9Tef)

(a) Kerala / A

/16) Maharashtra / W
(c) Tamil Nadu/d ’-lQ"l"llS

(d) Andhra Pradesh / 3TT¢ EI%&T[
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/ * TTUT 419 YT o HERTSE ST 1§ fXeord 31 I8
T SRl G TeIeh STTeaT JTelT 219 2, 19 forer

( H@lsalaﬁ%§ )

® Salsette Island is located in the Indian

state of Maharashtra. It 1s the most
populous island in India, on which the city
of Mumbai is located.
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Q.5 In which year Nagaland became a separate state?
Tore Y T TToIS Teh ST TS ST T

C.P.0. S.I. 75, 2016 ( 1- uTedT)

(a) 1960
/
(b) 1961

—_

(c) 1962
<
i 1963
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2 7
7 Cl&//
* | fa@s, 1963 %! FciS 6t TS

S TR ATE TS {lw%ﬂ:ﬁ}ﬁﬁtﬂél

®* Nagaland became the 16th state of Indla
on 1 December 1963. The capital of the
state of Nagaland 1s Kohima.
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Q 6 Nathu La Pass connects India with which of its neighboring

/countnes‘?
1Y AT S TRA Sl 36k [oh TSIET I H SITSAT & 2 (L

S.S.C. AMET CGL (T-I) 20 , 2021 (14 9tedl)

(b) Bangladésh/ ST

(c) Bhutan/¥ZH
(d) Nepal/<dTet
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m(lndla)
&I gl THIRH shl TS

S ssﬁmﬁqéﬁﬁ%ww EiCIRER]
o 31 Tg ad

®\/ ﬁtﬁ?%ﬂwwlw T T9E AT ¢

° Nathu La Pass 1s located i the state of
Sikkim, India. About 55 km from Gangtok,
the capital of Sikkim. The Nathu La Pass
located in the east opens into the Chumbi
Valley of the Tibet Plateau i Chinese
territory. This pass i1s the main route of
trade between India and China.

%

|H|orohH ) |




TARGET GS- 25/25

Q.7 Garo-Khasi range 1s located in which Indianstate?
e S syuff feera 8 2

S.S.C. SAATET CHSL (T-I) 13 TSR, 2020 (1-9TedT)

(a) Odisha / 3TITSI
(b) Mizoram / et
/THSIRE

\//éé) Meghalaya/HeTer™

———

(d) Sikkim / T&rierern
IS
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Q.8 Manas National Park 1s in which state?

Sy A T T e T 2

S.S.C. AFATET CHSL (T-I) 18

T TS qTeh 31H T3 ﬁﬁ% (a) Odisha / 3Tfesm
Manas National Park 1s located in thei/ (b) Fsamj

state of Assam.
(¢) Maharashtra/H2Is¢
(d) Sikkim / T&ieRa
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9 In which state 1s Mahatma Gandhi Marine National Park located?
e et 70 AT UTeh Tohg U | fRera @ 2

C.P.0. S.1. 75, 2016 (1-9TeT)

(a) Kerala/ A

(b) Jharkhand/sTR@E<
Andaman and Nicobar//m\T?%
‘%) N\

EEJE]E

(d) Andra Pradesh/ 3Ti&l Ja3T
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* UEICAT el T A3Fc Uleh hseMiad Yed
3EAH Ud e 4 Rod 8| I8 e 281.5 a1
fopeft, 1 foreqa 21 g @er wqg, @itedi Td 15
De-o¢ g IMHA &l D

® Mahatma Gandhi Marine National Park 1s
located in the Union Territory of Andaman and

Nicobar. The park 1s spread over an area

of 281.5 sq km. It includes the open sea, bays,
and 15 small and large islands.
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Q.10 If there were no gravity, which of the following will not be there for a fluid?
SR Tecd TRy I1eh 7 8, a1 fefafad 8 & s-ar ate gard & fore anae emm 2

S.S.C. AT & Tdeh &’ (T-1) 31 37T, 2016 (111 9TeT)

(a) Viscosi o

(b) Surface Tension /U8 d-Td
\/l - /
(c) Pressure / adld

\é@(ﬂ Upﬁ?lrd Thrust/3T EEIE
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\/' AR gbc§|ot>§0| ST 7 &1, df ald Wﬁﬁm
od[d dgl <7 | D

* If there 1s no gravitational force, then

liquids will not have upward pressure.
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Q 11 Which of the following pairs represent two scalar quantities?

4 AT W ShIH-8T I a1 (T UIRTET 3hT i ieree shidr 82

—  ~

a) Mass, Acceleration/SeIHIH, U]
— N
b) Temperature Torque/ ?HTWFT AT

/(7) Dlstanee Spe\ed

d) Grav1tat10nal Intensity, Work/]TJ\W:ﬁ'J
(‘IIQI(‘lI °|'>|<’4
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o i i e St TR BT 2

AN iz fosm =i

gidl, fGe TRMl

FEATdl T | 341%-‘?[ TRET % F 33TE:

~_ M, SIHM, (‘IIW-II'-l

ET,TI'_CH

o —
P —

® The physical quantities which have only

direction are called

@g—n%ude and_no
_Scalar quantities.

Scalar  quantities:

Some examples of
Work, Mass,

Temperature, Distance, and Speed.
//_— /—’_\
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Q.12 Which among the following gas was leaked at Bhopal during the Bhopal

gas tragedy on 2-3 December 19847
TR H € S 19 99Tt § 2-3 fa8e 1984 3t 9iUTet 719 ATaT

o A1 ook g8 ot

a) Methyl isocyanide/fiaTseT TEAAREATES

——————

‘&’j Wetbyl isocyanate/fHTge STSETATEE
¢) Methyl isochloride/fHeITset AZHFANES

d) Methyl isochlorate/ TS JATEHIFARE

/

—_—



-23ﬁaat 1987@/{16@%3%

<

°|'>|®II$S °|'> NEHEES Ohld'-IIQIOh pP ﬁ ITHIT 40 24
STl et STsamTE-e (THTTsH) ﬁ@l
500000 & TR AT A9 o Tk H ST 3TN
4000 T 371 AT g1 77T

® On the night of 2-3 December, 1984, the
Union Carbide subsidiary pesticide plant in

Bhopal released around 40 tonnes of toxic
methyl 1socyanate (MIC) gas. More than
500000 people got exposed to the gas and
more than 4000 died.
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Q.13 Which of the following metals are the constituents of German
silver? THFIlcTREd H € shiH €Y €T STHA e o 51eeh 82

/

a) Nickel/[Hehdd
b) Copper/?ﬂ%lT

c) Zinc/SEL

_éd'j All of the abovem'gffﬁ aul

/
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i (Gl (e e

[60% QO% ECELY

'7// %awﬂ%laﬁéwg T Y STHA
\ féwa Rea el STTdT 2, <TTehA wﬁwﬁ%l

J ° German Silver 1s an alloy of copper, zinc
@ and nickel. The usual formulation 1s 60%
copper, 20% mnickel and 20% zinc. It 1s

named german silver due to its silvery

appearance, but 1t does not contain silver.
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Q.14 The SI unit for frequency 1s
< ST T THITE A TR 2
) S.S.C. AT MTS (T-1) 27 TR, 2021 (I- TTeit)

€) Volt/?:ﬁ_d
(b) ohm /379

/(,Q)Lhertz/g?fa 3

(d) joule / 5[t
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\/mﬁr (frequency) 3T UH. 3413‘ (S.L) 9k
(Heartz) TIT & U i ATcT o S
\Oh U / Yehe A TT 3Teh) CIEIBIES oh

S Bl B B

*S.I unit of frequency 1s Hertz. When a
vibrating object makes one ~ vibration/

——

second, its frequency 1s equal to 1 Hz.
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Q.15 Which of the following metals can easily be cut with a knife?

TR | © foher ©Tq hl =ITeh & SATETHT | h1eT ST HehdT 82

_/
{y Sodium/@ifeam ,

b) Manganese/ﬁﬁ?

C) ch/El"vaT
d) Tmfﬁ?f
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e fau 7w Tt forereat & @ wifeam s T o1q @
3 34 =16 ¥ ATEET § T ST el &l I8
Teh 3Tcd ek TiATshaTeiier €Tg @ ST =i o Hha
TTaH BT € |

®* Out of all the given options, Sodium 1s a

softer metal and can be easily cut with a
knife. It 1s a highly reactive metal that is
silvery white 1n color.



